SAMPLE QUESTION PAPER

FIRST YEAR HIGHER SECONDARY EXAMINATION, MARCH 2023

CHEMISTRY
Part — 111 Time : 2 Hrs.
Cool-off time : 15 Minutes.

General Instructions to Students

e There is a ‘cool-off time’ of 15 minutes in addition to maximum writing time.

Use cool-off time to get familiar with questions and to plan your answers.

Read the instructions carefully.

Read questions carefully before answering.

Calculations, figures, graphs should be shown in the answer sheet itself.

Give equations wherever necessary.
e Electronic devices except non-programmable calculators are not

allowed in the Examination Hall.




Write any 4 questions from 1-5. Each carries 1 score. (4x1=4)

1. No of electrons present in O2? is......... (@D)]
a) 18 c) 16
b) 10 d) 20

2. Hydrogen bond is present in........ Q)
a) HCI c) H20
b) H2S d) HBr

3. Write the IUPAC name of element with atomic number 114... (1)

4. Select the Lewis base from the following @
a) AICls c) NHs
b) BFs d) BeCl

5. Complete the reaction (1)

red hot iron

3CH=CH -

873K

Answer any 8 questions from 6-15. Each carries 2 scores. (8x2=16)

6. The electron gain enthalpy of F is less than that of Cl. Explain (2)

7. The first ionisation enthalpy of N is greater than that of oxygen. Why?(2)

8. “ Shape of a molecule is determined by the no of electron pair present

around the central atom”

i. Using VSEPR theory Explain the structure of H20 (2)

9. a)State first law of thermodynamics. (1)




b)Give the mathematical equation of First law of thermodynamics. (1)
10. . Define disproportionation reaction. Give an example. (2
11. Give the structures
a) 3-Ethyl-4,4-dimethyl octane (1)
b) 6-Methyloctan-2-ol 1)

12. How will you identify the presence of halogen by using sodium fusion

extract. 2
13. State Huckel's rule of aromaticity (2)
14. Carbon and Oxygen Combine to Form CO ;and CO.
a) ldentify the above law 1)
b) State the law 1)

15. What are buffer solutions? Give an example for acidic buffer. (2)

Answer Any 8 questions from 16-26. Each carries 3 scores. (8x3=24)

16. Enthalpy and Entropy changes of a reaction are 40.63 KJ/mol and 108.8

JK Tmol 1 Predict the feasibility of the reacion at 300K (3)
17. Balance the following redox reaction by Oxidation number method (3)
Fe**+ Cr,0# —> Fe3*+ Cr¥*
18. Which possess more dipole moment NHz or NFs. Give Reason. (3)

19. a) State modern periodic law 1)

b )What are isoelectronic species 1)




c) Select isoelectronic species from the following
Li,Na*,0% F,Mg?

20. Give three types of structural isomers with examples

21. Explain
a) Inductive effect (1)
b) Homolytic fission 1)
c) Nucleophile 1)
22. a) State Le-Chatelier Principle (¢D)]

1)

©)

b) Applying the principle explain the effect of temperature and pressure

for the following reaction (2)

No+3H, <>2NH; AH

23. a) What is de -Broglie’s wavelength of 75g of ball moving with a speed

of 42 m/s 2

b) Give the mathematical expression for Heisenberg uncertainty

principal. (2)

24. Complete the reaction

dryether
a) 2CHsCl + 2Na ——

alcKOH
b) CHs-CH2-Br ——

peroxide

¢) CH3-CH=CH + HBr ———

@)

1)

1)




25. a) Draw Newman's projection of eclipsed and staggered conformation of
ethane. (2)

b) Which one is more stable staggered or eclipsed. (1)

26.a) write any two merits of Bohr atom model. (112)

b) write any two demerits of Rutherford’s atomic model. (112)

Answer any 4 question from 27-31. Each carries 4 scores. (4x4=16)

26. a) Define pH. The pH of a soft drink is 2.42 Give the nature of the

solution (2)

b) An aqueous solution of CuSOys is acidic while that of Na,SOais basic.

Explain (2

27. a) Classify the following into intensive and extensive 2

Internal energy , Entropy ,Temperature ,Density

b)State Hesse's law of constant heat summation. Illustrate the law. (2)

28. a) Find the empirical formula and molecular formula of an organic

compound from the data given below. 3)
C=75.92% H=6.32% N=17.76%
The vapour density of compound is 39.5.
(C=12, H=1, N=14)

b) define Limiting reagent. 1)

29. a) Complete the table 1)




Molecule Hybridizations

CH4

BFs

b) Give the molecular orbital configuration of N> 2

c) Define bond order

d) Explain Magnetic behaviour of N, using MO configuration.

(1/2)

30. a) Name the four quantum numbers (2)

b) Find the quantum numbers of last electron of Na atom

¢) n=2, I=2 why this quantum no is not possible

(1/2)

1)
1)




Prepared by

SHAHINA. E. CRESCENT HSS, OZHUKUR(11250), MOB : 9847659357, PEN :839882
SHAFEENA PK. NECT, KARUVANKALLU (11167) MOB :8157960660

ASEEMA P, VHMHSS, MORAYUR (11066) MOB :9961703840,PEN : 232960

SUDHEESH K, GHSS THADATHIL PARAMBA, (11144) MOB : 9895778388,PEN : 458656
SHANU K, GHSS VAZHAKKAD (11013), MOB : 9961444689, PEN: 682414

BIJU THOMAS V, EMEA HSS KONDOTTY, MOB :9446695209, PEN : 233386

FIROZ KK,PPMHSS KOTTUKARA, (11057),MOB: 9747867639,PEN:233670

N o a M w D oE




	SAMPLE QUESTION PAPER

